Selbsttest Doppelbruche Ila
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Aufgaben LOosungen
_—_1_—_5_i) _—_5+£_i)
-6 -4 -6 3 5 -5 300
5,4 -4} (=1, 1 1 49
(3+—5+5 6 6 6
—_5+—_6_Z).(i_i_l)
S 2
(‘_—5‘?‘_—4)'(5‘_—5 T) 63
—4 —4 2 5 -1 2
(? _—5‘_—3) 6 3 200
1 -5 3 4 5 4 969
(5 _—3‘2) (5*5*3
5 -1 5) (5 ,-3,-1
3 6 —4 —4 2 —4 4625
(_—_4_L+L) (_—_3_1 -1 468
-5 -5 =2 -2 —6 5
—2_1 _5) (.6 ,-8 3 1
3 —6 4 -5 4 —4 _E
5 -5 -5 —4 -5 1
(z+_—e+_—e) (?‘_—6‘6)
-3 3 3 -2 5 -5
(—_+E_E)'(?_I+7 7
5 -3 1 1 5 3 18
Z+—_2+Z'(_?+—_3+—_2
(_—_1_—_5_—_1).(_i+—_3_—_3
: 361 45 6_4 2_42 : 37—5
(‘3‘5*5'(3‘5*5 32
5 5 2 1 —4 3
(_—_2_—_6+§'(—_2_—_5 _—4) _ 192
2 5, -1) (6 -4 -5 1513
5 4 —6 5 -5 —6
(—_1 1_3 (_i_—_5+—_3
4 6 -2 -4 -3 =5 @
-ty -2 =8| (L3 _-5_ 1 40
6 -3 —4 2 3 -2
(_L_—_l_l._i_—_l 1
-3 -2 4 -2 4 2 75
-3 5 -2 1 -1 -1 Tan
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